International Standard Social Responsibility

The organisation can measure and evaluate its seven KPIs according to the
four levels. The organisation can calculate total points gained by each KPI
and average points of the seven KPIs. Repeat this process over time and the

organisation will have a measure of its progress towards full implementation
of ISO 26000.

Questions Level 1 Level 2 Level 3 Level 4 Total

Discharge of effluent
Use of natural resources
Use of energy

Use of water

Recycling waste products

Conversion into
energy saving factory

Transportation

Let's assume the following points.
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Then repeat the process for each of the seven KPIs.
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